MCHGH %% V

rh 72 B — TN = mindman
TRiEL
N o REBEhZe Rl AT R R B - AT
T - Th WS 2 THEE » BT T eI o B -
- -0 o L R PEEL - SRR 2N - FL A I — R R
i S -

o RBERR IRt R B - I PERE > JE— AR MR BT RE LU -
© 2= R GIE RT A SR

M criPPER
o >
MCHGH-80

M sripper
MCHGH-84

A TR - Bt

MCHGH — 64 M

TEE = HIEH
T —\% EN: 15 64 80 100 125 160
HIgE AEEE A BAEAfTRZ(mm)| 8 12 16 20 26
64 i v 7248, 0.1~0.6 MPa
133 (EI7N 0.05 mm
lég JE B —10C~+60C (FEE)
HeEH (x1) B il
UER (2) RH : 525, RHN : NPN, RHP : PNP
Eik(kg) 052 | 082 | 13 [ 21 | 38

1. SR B A -
2. MRS 512 6 ¢

HERIB -

bt
=
B

e = TR T r

IR,
TR .

AT A E B s G B

J

JIN R 8 I RS 32 B ) ¢l i Al 1

=
Pl
~
=
picl
g
b

/M|Minqun



MCHGH M"ael 464~ 160

7o f— S .
th 22 B = T4 F mindman
MCHGH-64 MCHGH-80 MCHGH-100
IMEAEFF IME AR IME A FT
PR AFE TR 2kg 4 L=20mm PR AFF LA 4kg A L=25mm B3 W AHF T 6kg /A L=25mm
1500 2500
800 1200 2000
= 600 J{£70.8MPa _ [—JEjy08MPa _ —~—
z Z 900 Z 1500 % 170.8MPa
=~ 0.6MPa R ™ 0 eMa RO N \&\
#z 400 ¥ 600 —] #1000 0.6MPa
2 0.4MPa 2 ——04MPa 2 ——— T
200 300 500 =:4MPa
0 10 20 30 40 50 0 20 40 60 80 100 0 20 40 60 80
KFHRE L(mm) KFHEE L(mm) REFFHRE L(mm)
RSN RIEESE ISR
1500 2500
\
800 — &ﬁO.SMPa
JJO.BVIPa
—  [TT———l#)08VPa TN L 2000 T
Z 600 Z 900 0.6MP Z 1500
T 0.6MPa ~L.6Pa 3 i
g —— 0.4MPa % 600 ~———]—_0.41P % 1000
= D — < —0.4MPa g ————0.4MPa
200 300 500
0 10 20 30 40 50 0 20 40 60 80 100 0 20 40 60 80
KeFFRE L(mm) KFEE L(mm) FFpEE L(mm)
MCHGH-125 MCHGH-160
IMEAEFF IME R
PHER ] AREF AR 10.5kg 4 L=32mm PR A AR T 20kg A L=32mm {
4000 8000 €
1S
~ — JE70.8MP. S
Z 3000 jj\a\ Z 6000 |70 BMPa # <~ =>
U e e 0.6MPa R — ¥
# 2000 — i 4000 — U 6MPa i
¥ — 0.4MPa 2 A 2
1000 —— 2000 e - -
0 20 40 60 80 100 0 25 50 75 100 125
KeFFRE L(mm) KFHEE L(mm) ,
PR IS P ICES L (G2 )
B (mp 4mm)
4000 ST 8000
. ~LeyJ0.cMra ~~_ [%/J0.8MPa s . )
Z 3000~ £ 6000 | W RREAR T0F L LR 10~20 5. ks
ﬁ o ——Q6MPa | = ——l0.6MAa—~— J7 0 i FEHROTUEL T PR EL -
Z ——— [ 04Mpa ﬁ 4000 1 l04mAa — X TETATEEIRE > F575 Re s e Sl iy
1000 2000 — 1 TR -

0 20 40 60 80 100
HERFRIE L(mm)

0 25 50 75 100 125
FEFFRIE L(mm)

CIJIN=E

— Mx (Nm) My (Nm) Mz (Nm) Fz (N)
MCHGH-64 12 10 10 500
MCHGH-80 15 30 25 1400
MCHGH-100 30 90 35 1800
MCHGH-125 45 95 45 2300
MCHGH-160 60 100 70 2500

/M mindman



MCHGH %8R~ ¢64~0160

rh 22 B = JTU k4 T mindman
X B 15° 15
SRR g N2 N1 -
‘<——]—<ﬁ 2-TT
> )

Imin
3
4
|
i
i
i
dA

3
£ IS =
Q T
w o X 3
= ]
] 3-U
M Y D
L
o AlB|C|cc(D|E|F|G|H|I|K|L|M|N[N2|Q QQ
MCHGH-64 641475|33 |37 |32 18112 |3 35 (22| 5 |17 [10.2(10 16.5|7.5 | M3x0.5DP 8
MCHGH-80 80|56.5|42 (48 [395| 21|13 |4 4 29| 5 |23 (12210 (22 |15 M4 x0.7 DP 9
MCHGH-100 | 100(65 |52 |60 |46 25|16 |5 5 36| 6 |27 |142]|12 |24 |20 M5x0.8 DP 12
MCHGH-125|125(76 |65 |75 |53.5|32| 20 |6 6 45| 8 | 30 |16.2|13.5|28.5|25 M6x 1.0 DP 12
MCHGH-160 | 160(94 |84 |97 |67 |40 | 24 |85]| 8 59 | 8 |40 |20.2|17 |36.5|36.5| M6x1.0DP 12
e P RR s T [U|[X|Y |2z
MCHGH-64 | 05| ¢4.5£3#H,$8C/BDP6 PCD56 | ¢4 DP10| M5 | ¢4 | 1 | 25| 56
MCHGH-80 |1.2|$6.6H3#,¢11C/BDP7 PCD70 | $4 DP10| M5 65| 2 70
MCHGH-100| 1.2 | $6.6 Hiifi,¢11 C/BDP7 P.C.D90 | ¢5 DP 12| M5 6| 2 90
MCHGH-125| 12| #9 Hif,¢15C/BDP9 PCD112 | 6 DP16| Rc1/8 | 6 | 2 | 35 | 112
MCHGH-160| — | #9 Hi#,¢15C/BDP9 P.C.D146 | $6 DP20| Rc1/8 | ¢6 | 2 146
Ly .
BN
o L1 | L2 | L3 | L4 | L5 | L6 | L7 | L8 | L9 | L10
MCHGH-64 18 12 5 3.5 2 10 — $3.4 4
MCHGH-80 21 13 5 4 2.5 12 4.5 $4.5 4
MCHGH-100 25 16 5 6 5 3 14 5.5 $55 5
MCHGH-125 32 20 8 6 16 5.5 $6.6 6
MCHGH-160 40 24 8.5 8 8 3.5 20 5.5 ¢ 6.6 6

/ﬂ//ﬂMindman



	1_規格
	2_性能圖表
	3_外觀尺寸

